

August 18, 2011

Dear Mr. Nisbet,

Applied Industrial Technologies' (Applied®) appreciates the opportunity to respond to your IFB #DCBATT11for Dry Cell Batteries. Applied is a proud to introduce to you our U.S. Communities partnership through our publicly solicited and awarded Maricopa County, AZ contract #11019.

Applied offers great convenience and value to state and local government agencies, school districts (K-12), higher education, and nonprofit agencies through our partnership with U.S. Communities. U.S Communities reduces the cost of purchased goods through pooling the purchasing power of public agencies nationwide. This is accomplished through competitively solicited contracts for quality products, services and solutions through lead public agencies like Maricopa County, AZ. You can benefit from Applied's partnership by taking advantage of the best government pricing available.

Applied's contract includes government discounted pricing on thousands of industrial MRO supplies such as bearings, power transmission, material conveyance, hydraulic & pneumatic components, hose & fittings, rubber products from trusted suppliers. Applied offers competitive pricing on a full-line of services including MaintenancePro® technical training, rubber & hose shop services, repair & rebuild services and SupplyPro® vending solutions.

Applied supports America's communities by offering:

- 24-hour emergency support
- Part sourcing and OEM conversion
- Lead-time reduction
- · Increased productivity
- Reduced maintenance costs
- Cost savings with a special government pricing structure
- Energy saving products and solutions
- No minimum order requirements
- No membership costs or registration fees

Applied has responded to this solicitation with our best value and upon close of the bid will schedule a time with you and your team to share this attractive cooperative contract, designed to save you both time and money.

Thank you for your consideration and we look forward to meeting with you to discuss the value and savings we can bring to you.

Sincerely,

Carey F. McWilliams Jr.

Applied Industrial Technologies

National Accounts - Market Segment Manager - State and Local Government

Phone - 830-837-4001 Cmcwilliams@applied.com RECEIVED

2011 SEP - 1 PM 1:01

WW PURCHASING



Request for Quotation

BFONUMBER
DCBATT11

PAGE 1

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 304-558-8802

(304) 746-2012 Applied Industrial Technolgies, Inc. 604 E Street South Charleston, WV 25303

DATE PRIN	ITÉD	TER	MS OF SAL	5	SHIP	/IA		F.O.B		FREIGHT	TERMS
08/04/ BID OPENING DATE	2011										
BID OPENING DATE	: (9/01/2	011			BID (OPEN	ING TIME	01	:30PM	
LINE	QUA	YTITY	UOP	CAT. NO	ITEM NU	VBER		UNITPRICE		AMO	UNT
			1,5681,5681,56	NO.			1388888				
	THE WES	T VIRO	INIA	PURCE	ASING DIV	VISION :	is s	OLICITING			
	BIDS FO	DR A BI	ANKET	OPEN	-END STA	rewide (фоит	RACT TO			
	SUPPLY	DRY CE	LL BA	TTER	ES TO AL	L WEST	VIRG	INIA STATE			
	AGENCIE	ES AND	POLIT	ICAL	SUBDIVIS	IONS.					
	INQUIR	ES:								1	İ
	WRITTEN	QUEST	'IONS	SHALI	BE ACCE	PTED THI	ROUG	H THE CLOS	Ε		
	of BUSI	NESS (N 08	16/20	11. QUEST	TIONS M	AY B	E SENT VIA			
	USPS, E	AX, CO	URIER	OR E	-MAIL, II	N ORDER	TO	ASSURE NO			
	VENDOR	RECEIV	ES AN	UNFA	IR ADVAN'	rage, No	þ su	BSTANTIVE			
	QUESTIC	ONS WII	L BE	ANSWI	RED ORALI	LY. IF	poss	IBLE, E-MAI	L		
	QUESTIC	ONS ARE	PREF	ERREI	.						İ
											Ī
	ADDRESS	INQUI	RIES	TO:							
	GUY NIS	SBET									ļ
	DEPARTI	MENT OF	' ADM	NISTE	ATION						
	PURCHAS	SING DI	visid	N							
	2019 WA	SHINGT	ON ST	REET,	EAST						
	CHARLES	STON, V	V. 25	305-0	130						
	FAX: 30)4.558.	4115								
	E-MAIL:			ET@W	.gov						
										-	
001		E	A	4	50-06						
		1									
	pry cei	L BATT	ERIES	, FLA	SHLIGHTS	AND LAI	NTER	NS			
					<u> </u>						Ì
OLONIATURE :		\sim		SEE RE	VERSE SIDE FOR T		OITION	<u>e se sua compaga a parabaggara sensació</u>			
SIGNATURE	vM//	41/2 L	1			TELEPHONE . 30H	741.	-2012-	DATE	9-1-11	ļ
TITLE	INA	FI	IN 3/	- 21	7470		17		NGES	TO BE NOTED	ABOVE
GENERAL	IVIGNA	100			7420	6 ha ha ha ma					WDOAE
Wł	HEN RESP	UNDING	TO REQ.	INSER	I NAME AND	AUDRESS	IN SE	ACE ABOVE LA	HFIF	-D 'VENDOR'	

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



Request for Quotation

AFONUMBER

DCBATT11

PAGE 2

ADDRESS CORRESPONDENCE TO ATTENTION OF BUYER 42

304-558-8802

(304) 746-2012 Applied Industrial Technologies, Inc. 604 E Street South Charleston, WV 25303

1.505591	
13,000	
1. 2.27	
1 2000	
1.0.1	
3. 72.15	
1 P. 1	
100000	
10101	
1.0	
1.0.1	
2. 22. 3	
100000	
12.22.5	

DATE PRINTED	TERMS OF SALE	SHII	P VIA	FOB	FREIGHT TERMS
08/04/2011					
BID OPENING DATE:	09/01/2011		BID	PENING TIME	01:30PM
LINE QUAN	VTITY UOP	CAT NO ITEMN	UMBER	UNIT PRICE	AMOUNT
EXHIBI					
LIFE OF AWARD A	F CONTRACT:	THIS CONTR FOR A PERIOD	ACT BECOM	ES EFFECTIVE C	N
YEAR OI	R UNTIL SUCH	"REASONABLE N A NEW CONT	TIME" TH	EREAFTER AS IS	,
PRIGINA	AL CONTRACT.	THE "REASO	NABLE TIM	E" PERTOD SHAT	L
h.twe J	THE VENDOR M	AY TERMINATE	THIS CON'	THIS "REASONAB TRACT FOR ANY	
REASON WRITTEN	UPON GIVING NOTICE.	THE DIRECTO	R OF PURC	HASING 30 DAYS	
UNLESS	SPECIFIC PRO	OVISIONS ARE	STIDIII.A T	ED ELSEWHERE	
EN THIS	G CONTRACT D	OCUMENT, THE	TERMS. Co	CINA PINOTTTCINO	
CONTRAC	T. TERETY	ARE FIRM FO	K THE LIE	E OF THE	
RENEWAL	: THIS CONFI	RACT MAY BE	RENEWED U	PON THE MUTUAL	
BUBMITT	CED TO THE D	THE SPENDING IRECTOR OF P	IRCHASTNO	THIRTY (30)	
PAYS PR	RIOR TO THE 1	EXPIRATION DA	ATE. SUCE	H RENEWAL SHALE DITIONS OF THE	I.
PRIGINA	L CONTRACT A	AND SHALL BE	LIMITED 7	FO TWO (2) ONE	
1					
RIGHT T	O CANCEL THI	IS CONTRACT]	MMEDIATE	G RESERVES THE LY UPON WRITTEN	a
NOTICE	TO THE VENDO	OR IF THE COM	MODITIES.	AND/OR SERVICE	38
POPPLE	D ARE OF AN	INFERIOR OUR	LITY OR T	O NOT CONFORM	
IO THE	PECTETCALIC	DIS OF THE BI	D AND CON	NTRACT HEREIN.	
фреи ма	RKET CLAUSE:	THE DIRECTO	R OF PURC	CHASING MAY	
AUTHORI	ZE A SPENDIN	NG UNIT TO PU	IRCHASE ON	I THE OPEN	
ΨARKET, ESTIMAN	MITHOUT THE	FILING OF A	REQUISIT	TION OR COST	
SIGNATURE) 1.00(1	TIMESORE	realistics and the	LETENHONE TERMINATION	100718 FOR YC 2012 DAT	E
TITLE COPPARED OF	FEIN		1304 7		7-1-2011
GENERAL MANOR		- 0117420	ADDDEGG !!!	ADDRESS CHANG	ES TO BE NOTED ABOVE



Request for REGNUMBER Quotation

DCBATT11

3

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 304-558-8802

(304) 746-2012 Applied Industrial Technolgies, Inc. 604 E Street South Charleston, WV 25303

DATE PRINTED	TERMS OF SA	ĹĖ	SHIP VIA	F.O.B.	FREIGHT TERMS
08/04/2011					
 Section 19 and the section of the sect	09/01/2011	Barrenson Borrosson	BID	OPENING TIME	01:30PM
LINE QUAI	NTITY	CAT ITE	М NUMBER	UNIT PRICE	AMOUNT
	<u> </u>				
IMMEDI	ATE DELIVER	Y IN EMERGE	NCTES DUE	TO UNFORESEEN	
CAUSES	(INCLUDING	BUT NOT LI	MITED TO D	ELAYS IN TRANS-	
PORTAT	ION OR AN U	NANTICIPATE	D INCREASE	IN THE VOLUME	
DF WOR	K.)				
OLIANTT	TTEC. DIINNIM	TOTAL TAME	T) 773.7 mm.c		
A P P P C A L A L A L A L A L A L A L A L A L A	TTES: MOUNTAINT	TITES LISTE	D IN THE R	EQUISITION ARE S SUPPLIED BY	
THE ST	ATE SPENDIN	HI, PASED O	ESTIMATE POROMII RI	FOOD AND AGREED	
THAT TI	HE CONTRACT	SHALL COVE	R THE OUAN	FITIES ACTUALLY	
PRDEREI	D FOR DELIV	ERY DURING '	THE TERM O	F THE CONTRACT	
WHETHE	R MORE OR L	ESS THAN TH	E QUANTITI	ES SHOWN.	
OBDEBI	AC DECEDIE	E. CDENIDING	IINITE (C) C		
WRITTEN	N STATE CON	LEVCT OBDES	(EODM NITM	HALL ISSUE A BER WV-39) TO	
THE VE	NDOR FOR CO	MMODITIES CO	OVERED BY	THIS CONTRACT.	
μ'HE ORI	[GINAL] COPY	OF THE WV-1	39 SHATI R	B MATIED TO TUE	
MENDOR	AS AUTHORI	ZATION FOR S	SHIPMENT.	A SECOND COPY	
MATTED	TO THE PUR	CHASING DIV: PENDING UNI:	ISION. AND	A THIRD COPY	
CEIMINI	D DI LHE S	SENDING ONT.	ľ.		
BANKRUE	PTCY: IN T	HE EVENT THE	E VENDOR/C	ONTRACTOR FILES	
FOR BAN	AKKOPTCA PR	OTECTION, TI	HE STATE M	AY DEEM THE	
PONTRAC	T NULL AND	VOID, AND T	CERMINATE	SUCH CONTRACT	
MITHOUT	FURTHER O	RDER.			
THE TER	RMS AND CON	TTTONS CONT	יא דאי מיסוא דאי	THIS CONTRACT	
БНАЬЬ S	SUPERSEDE AI	IY AND ALL S	UBSECHENT	TERMS AND	
CONDITI	ONS WHICH	MAY APPEAR C	TTTA YNA NO	ACHED PRINTED	
POCOMEN	MIS SUCH AS	PRICE LISTS	3, ORDER FO	ORMS. SALES	
AGREEME FI FOUR	INTS OR MAIN	TENANCE AGE	REEMENTS,	INCLUDING ANY	
FIRCIRC	MIC WEDIOM	SUCH AS CD-	ROM.		
REV. 05	/26/2009				
חוות מוזא מ	TNG GLDD 3				
FORCHAS	ING CARD A	CEPTANCE:	THE STATE	OF WEST VIRGINI	
SIGNATURE OUT A SIGNATURE		SEE REALING OIDER	TELEPHONE	Inar	E Q / > = //
TILE CHANGE	FEIN 2		134	146.0010	7-1-2011
SONDED / WONDS		01/74/20		ADDRESS CHANG	ES TO BE NOTED ABOVE



Request for Quotation

DCBATT11

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BUYER 42 304-558-8802

(304) 746-2012 Applied Industrial Technolgies, Inc. 604 E Street South Charleston, WV 25303

þ

08/04/2011	
UNIC CHANTITY LIGO CAT. TEMBUMBED UNIT DRICE AMOUNT	
LINE GOAYTTE OF NO LEWINGWICE SWITTER AND AND AND AND AND AND AND AND AND AND	
CURRENTLY UTILIZES A VISA PURCHASING CARD PROGRAM WHICH	
IS ISSUED THROUGH A BANK. THE SUCCESSFUL VENDOR	
MUST ACCEPT THE STATE OF WEST VIRGINIA VISA PURCHASING	
CARD FOR PAYMENT OF ALL ORDERS PLACED BY ANY STATE	
AGENCY AS A CONDITION OF AWARD.	
VENDOR PREFERENCE CERTIFICATE	
THIS TEAM EXHIBIT HAS BEEN REPLACED BY THE ONLINE	
VERSION WHICH IS AVAILABLE HERE:	
HTTP://WWW.STATE.WV.US/ADMIN/PURCHASE/VRC/VENPREF.PDF	
NOTICE	
A SIGNED BID MUST BE SUBMITTED TO:	
DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION	
BUILDING 15	
2019 WASHINGTON STREET, EAST	
CHARLESTON, WV 25305-0130	
THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF	
THE BID SHOULD CONTAIN THIS INFORMATION ON THE PACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED:	
\$EALED BID	
BUYER: FILE 42	
RFQ. NO.: DCBATT11	
SEE REVERSE SIDE FOR TERMS AND CONDITIONS	
SIGNATURE LENGTH 11 DATE 9-1-201	/
TITLE ADDRESS CHANGES TO BE NOTED ABOY	'E
WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'	



Request for Quotation

DCBATT11

PAGE 5

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 304-558-8802

(304) 746-2012 Applied Industrial Technolgies, Inc. 604 E Street South Charleston, WV 25303 SH-P-TO

DATÉ PRINTED	TERMS OF SAL	E	SHIP VIA	F.O.B.	FREIGHT TERMS
08/04/2011 BID OPENING DATE: 0.6					
BID OPENING DATÉ:	9/01/2011		BID	OPENING TIME 01	:30PM
LINE QUANTI		CAT. NO.	ITEM NUMBER	UNIT PRICE	AMOUNT
BID OPEN	VING PATE:		0	9/01/2011	
					·
BID OPEN	VING TIME:		1	:30 P.M.	
		77.11 77	THE CASE IN	TO MEGROGARY	
			DMBER IN CASE IT	LS NECESSARY	
I TO CONTA	ACI YOU KE	PAKDT.	NG YOUR BID:		
			304 746 2018		
CONTRACT	DEBCON (D	TENCE	PRINT CLEARLY):		
CONTACT	PERSON (P	LEADE	FRINI CLEARDI).	Withrow	
			Wende //	WITHKOW	
1					1
1					20-76
*****	THIS IS T	HE EN	D OF REO DCBAT	T11 ***** TOTAL:	10189726
,					TO CITY
1					
1				ŀ	
			1		
1					
	$\gamma \perp$	k	UEBAE AIBE EAR PERINA VIVE III	 	
SIGNATURE /)	// //	SEE RE	VERSE SIDE FOR TERMS AND CO TELEPHONE	*****	2 . 5 - 1/
Condell /	Clehr	_		304 7462012 DATE	9-1-2011
TITLE GENERAL Manage	P FEIN 34	-011	7420	ADDRESS CHANGES	TO BE NOTED ABOVE

DCBATT11 Specifications

SCOPE

This contract is to furnish equipment lead acid batteries for equipment owned and/or leased by various agencies and political subdivisions. It is the intent of this contract to cover current product applications and any new product applications as they become available. This bid shall be a Request for Quotation" (RFQ); a single award for all items will be issued to the lowest responsible bidder, whose products meet the minimum quality defined herein. A sample shall be provided upon request.

General Information

- 1. All products bid, furnished and delivered must meet the needs of the State of West Virginia. Each item bid on the pricing page must be identified with the manufacturer's number and the vendor's item number on the bid form. Vendors are requested to type the pricing pages. Failure to indicate the minimum order quantity on the pricing sheets shall require the vendor to ship any quantity of that product ordered, regardless of order size.
- 2. Bidders shall complete the pricing on "DCBatt11 Pricing/Information Page". Bidders should complete all columns and information requested. Quantities for each item represent an approximate volume. No future use of contract is guaranteed or implied. The "unit price" must be the final price that will be charged to the State of West Virginia. The award shall be a discount from list, based on discount shown on bid. Entire battery product line shall be covered by the subsequent contract awarded.

Vendor must sign the pricing page.

- 3. The lowest cost bid whose products meet or exceeds the acceptable quality, shall be awarded a contract.
- 4. The catalogs may be updated at renewal.
- 5. Estimated Quantity amounts are shown for informational purposes only and should not be construed as a guarantee of any future contract usage.
- 6. Orders shall be delivered within three (3) working days after orders are received. Spending unit must be advised in writing if orders will be delayed for any reason. Contractor shall carry an adequate stock to insure such delivery service for the duration of the contract.

DCBATT11 Specifications

- 7. All deliveries must be made during normal working hours for the delivery location. All shipments of products requiring a material safety data sheet (MSDS) shall include a MSDS included with the product.
- 8. All bids are to be quoted as F.O.B. destination to any West Virginia location. The minimum order for prepaid shipping to one, in-state destination shall be \$50.00. For orders less than \$50.00, transportation charges (if any) will be invoiced as a separate charge with the original freight bill attached to the invoice. Agencies may make purchases that fall under the \$50.00 limit at a local source to avoid the delivery charges. Note: Stringing orders to circumvent purchasing regulations is expressly prohibited.
- 9. The successful bidder shall not substitute any other brand of products from those awarded, nor sell any additional items under their contract not specifically covered herein, without prior written permission of the Purchasing Division.
- 10. All products must be highly efficient and effective in the performance of the tasks for which the product is intended to be used.
- 11. Successful vendor shall provide quarterly reports and annual summaries showing the quantities, dollar value and agencies (including political subdivisions) which have used this contract. Successful vendor shall also be able to provide report showing the top items purchased during the contract period. This report is mandatory and failure of the successful bidder to supply such reports may be grounds for cancellation of contract.
- 12. Nonconforming products and materials shall be returned to the vendor at no expense to the State of West Virginia at any time during the life of this contract; and shall be credited or not invoiced if caught prior to billing.
- 13. Internet Access Vendor should be able to provide internet ordering access. If vendor has such capabilities, this should be so noted in their quotation and describe the process for setting up such ordering for state agencies. Internet access is not a requirement for bidding.

DCBATT11 - Pricing/Information Page

			WV Electric		
	Equal to		Supply	Discounted	
Item No.	or Exceed	Description	(Qy)	Unit Price	Total
item ivo.	OI EXCECU	Description	(Gty)	0111111100	Total
		6V HD Industrial Heavy Duty 6 volt			
1 1	Rayovac	spring terminals	3,500	1.362	476700
	7 100 7 100	AL 9V Alkaline 9 volt Size Shrink 6		0:0	
2	Rayovac	pack	18,000	.819	14742
		AL AA Alkaline AA Size Shrink 8			211/ 21/80
3	Rayovac	pack	139,800	0176	24604
		AL AAA Alkaline AAA Size Shrink 8		.07	10 7 200
4	Rayovac	pack	100,000	218/	18/00
5	Rayovac	AL C Alkaline C Size Shrink 6 pack	20,000	.418	83600
6	Rayovac	AL D Alkaline D Size Shrink 6 pack	30,000	.600	18000
		IN2 Industrial 2 D Size with PR2 Bulb		2 750	co
7	Rayovac	and Ring Hanger	400	L. 150	1100
		IV2D Yellow 2 D Size Utility		1 910	-,,00
8	Rayovac	Flashlight	400	10/10	164
	_	IV2DM Yellow 2 D Size Utility	0.45	2-25	01262
9	Rayovac	Flashlight with magnet	245	0,000	065
10	Rayovac	KFL Krypton Lantern with Stand	400	4.345	1738
		EVBFL 6VB Floating Lantern and			, 5
		general purpose 6-volt Lantern		7 710	-84
11	Rayovac	Battery in sleeve	1,664	5.30	350/51
12	Rayovac	RL123A1 Photo Battery	2,000	1.375	275000
				Grand Total	\$101,897

Vendor: Applied Industrial Technologies

Contract Coordinator: Wendell Withrew

Telephone Number: 304 746 2012

Fax Number: 304 746 2018

Email Address: WWITHROW Q, applied. Com

Signature: Wardell W

Single discount from list

Certification: By signing and submitting this bid, we hereby certify under penalty for fraud that all products listed meet all specifications contained in DCBATT11.

US RAYOVAC INDUSTRY NET PRICE LIST (August 23, 2011)

AINAILLIE OILLA FIO COMIGACIOI FACES	or Packs				
ALAA-24	Alkaline Reclosable AA-24 Pack	12800474097	288 12	28.80	345.60
ALAA-48	Alkaline Reclosable AA-48 Pack	12800503889			460.80
ALAAA-18	Alkaline Reclosable AAA-18 Pack	12800474103			276.4
ALAAA-24	Alkaline Reclosable AAA-24 Pack	12800507986	288 12		345.60
ALC-12	Alkaline Reclosable C-12 Pack	12800474110			186.24
ALD-12	Alkaline Reclosable D-12 Pack	12800474127	8 96		211.20
AL9V-8	Alkaline Reclosable 9V-8 Pack	12800474080			364.80
AL9V-12	Alkaline Reclosable 9V-12 Pack	12800507832			547 20
Alkaline Ultra Pro Shrink-Wrapped Batteries	rapped Batteries				
AL-AA	Alkaline Shrink-Wrapped AA-8 Pack	1280000432	96 12	1.34	128 64
AL-AAA	Alkaline Shrink-Wrapped AAA-8 Pack	1280000456			130.56
AL-C	Alkaline Shrink-Wrapped C-6 Pack	1280000418			145 44
AL-D	Alkaline Shrink-Wrapped D-6 Pack	1280000425			165.60
AL-9V	Alkaline Shrink-Wrapped 9V-6 Pack	1280000449			288.00
Alkaline Bulk					2007
815 BULK	Alkaline AA Size	12800173433	200	1.46	730.00
824 BULK	Alkaline AAA Size	12800194636	200	1.46	730.0
814 BULK	Alkaline C Size	12800177721	168	2.10	352.80
813 BULK	Alkaline D Size	12800174676	105	2.10	220.50
813FT	Alkaline D Size, Flat Top	1280000005	105	1.94	203.70
A1604 BK210	Alkaline 9-Volt	12800236046	210	4.28	898.80
Heavy Duty Batteries		The second secon			
HD-AA	Heavy Duty Shrink-Wrapped AA-8 Pack	1280000487	96 12	0.66	63.36
HD-C	Heavy Duty Shrink-Wrapped C-6 Pack	1280000463			64.80
HD-DA	Heavy Duty Shrink-Wrapped D-6 Pack	1280000470	72 12	0.98	70.56
AD-9V	Heavy Duty Shrink-Wrapped 9V-6 Pack	1280000494	72 12	2.06	148.32
3AAA-4	Heavy Duty Carded AAA-4 Pack	12800458714	96 24	4.14	99.36
3AAA-8CTA	Heavy Duty PDQ Tray of 5 Carded AAA-8 Packs	12800507337	240 30	7.70	231.00
5AA BULK	Heavy Duty AA Size	12800379866	1000 —	0.78	780.00
6D BULK	Heavy Duty D Size	12800379606	154 —	1.02	147.90
Varta® - Alkaline High Energy	Ī				
V4906121412	Varta Alkaline High Energy AA 2-Pack	4008496559398	40 20	1.66	166.00
V4906121414	Varta Alkaline High Energy AA 4-Pack	4008496559435	80 20	2.96	296.00
V4903121412	Varta Alkaline High Energy AAA 2-Pack	4008496559701	20 10	1.84	92.00
V4903121414	Varta Alkaline High Energy AAA 4-Pack	4008496559749	40 10	2.96	148.00
V4914121412	Varta Alkaline High Energy C 2-Pack	4008496559312	20 10	4.02	402.00
V4920121412	Varta Alkaline High Energy D 2-Pack	4008496559237		4.36	218.00
V4922121411	Varta Alkaline High Energy 9V 1-Pack	4008496559862	10 10	3.56	178.00
V4761101412	Varta Alkaline High Energy AAAA 2 Pack	4008496524976	20 10		362.00
Varta® - Alkaline High Energy Tray Packs	ty Tray Packs	7.777.000.00			
V4903121111	Varta Alkaline AAA 10 Pillow Tray	4008496573448	200	0.70	140.00
V4906121354	Varta Alkaline AA 4 Foil Wrap Tray	4008496573400	40 10		366.00
V4914121111	Varta Alkaline C Tray	4008496573363	20	1.64	32.80
				*	

ACCORD-056579503 SCO O.7O 3 AD 2-Pack		V 72644444		4008496573493	70/	7.84	4 56.80
WORDSTASTS VANDESTASTS	arta® - Al	Ikaline High Energy B	ulk	The spirit Manage of the spiri			
VOICESTATIONALY VOICESTATIONAL VOICESTATIONAL VOICESTATIONALY VOICESTATIONAL VOICESTATIONALY VOICESTATIONAL		V4903121511	Varta Alkaline AAA Bulk	4008496575053	500	0.7	
Rechangelies Rechangelies 40000-4000-2000-2000-2000-2000-2000-200		V4906121511	Varta Alkaline AA Bulk	4008496574995	200	0.7	
Not Nigologies Note Section Service Not Nigologies N		V4922121501A	Varta Alkaline 9V Bulk	4008496575084	272	1.8	
VOZDEGATION View Rechargeshible ALZ-Pack	arta® - Re	echargable		THE PROPERTY OF THE PROPERTY O		-	
VACADESTATION Varie Rechargeable 9/170 mA) 2-94c4 Vacadian		V5703301402	Varta Rechargeable AAA 1000 mAh 2-Pack	4008496538621			_
WADDIGUISTATION Vanita Rechargeable by 170 mAb 1-8-pack WADDIGUISTATION Vanita Rechargeable by 170 mAb 1-8-pack WADDIGUISTATION Vanita Rechargeable by 170 mAb 1-8-pack WADDIGUISTATION WAS A 4-pack WADDIGUISTATION WADDIGUISTATION WAS A 4-pack WADDIGUISTATION WAS A 4-pack WADDIGUISTATION WAS A 4-pack WADDIGUISTATION WAS A 4-pack		V5706301402	Varta Rechargeable AA 2700 mAh 2-Pack	4008496528509			
National Control of the Petron Atlantine AAA 4-PetA National Medition AAA 4-PetA National Medition AAA 4-PetA National Medition AAA 4-PetA National Medition AAA 4-PetA National Medition AAA 4-PetA National Medition AAA 4-PetA National Medition AAA 4-PetA National Medition AAA 4-PetA National Medition AAA 4-PetA New York Control of the National AAA 4-PetA New York Control of the National AAA 4-PetA New York Control Medition AAA 4-PetA New York Control Medition AAA 4-PetA New York Control Medition AAA 4-PetA New York Control Medition AAA 4-PetA New York Control Medition AAA 4-PetA 4-PetA New York Control Medition AAA 4-PetA New York Cont		V56722101401	Varta Rechargeable 9V 170 mAh 1-Pack	4008496550814			
Van 202011-044 Variar Photo Malline AAA 4-Pack	arta® - Pł	hoto Alkaline	The state of the s				
Monta Statistical Autra Pinton Alkaline AAA 4-Pack Monta Pinton Alkaline AAA 4-Pack Monta Pinton Alkaline AAA 4-Pack Monta Pinton Alkaline AAA 4-Pack Actor Statistical Autra Pinton Uthinim SV, 1292, Pack Actor Statistical Autra Pinton Uthinim		V4206201404	Varta Photo Alkaline AA 4-Pack	4008496369485			
NGESTISSUADION Varies Protoc Lithlum 3V, CRAZA Peck ACCESSUADION Varies Protoc Lithlum 6V, CRAZA Peck ACCESSUADION Varies		V4203201404	Varta Photo Alkaline AAA 4-Pack	4008496369607			
VACCOSSOLIGATION VALUE PROTED Utilum 3V, LSBA, L*Peck VACCOSSOLIGATION VALUE PROTED Utilum 3V, LSBA, L*Peck VACCOSSOLIGATION Variar Prote Utilum 6V, LSB2, L*Peck VACCOSSOLIGATION Variar Prote Utilum 8V, CR2, L*Peck VACCOSSOLIGATION Variar Prote Utilum 8V, CR2, L*Peck VACCOSSOLIGATION Variar Prote Utilum 6V, CR3, L*Peck VACCOSSOLIGATION Variar Protecturin Allaime 1,2V, V 25 GA VACCOSSOLIGATION Variar Protecturin Lithium 3V, CR 2,220 VACCOSSOLIGATION	arta® - Pł	hoto Lithium					
VICTORS 0.014 VAID VICTORS		V6205301401A	Varta Photo Lithium 3V, 123A 1-Pack	4008496537280			
VEX.020301.04.7M VARIE PRODUCT LINEAR VEX.020301.04.7M VEX.020301.04.7M VEX.020301.04.7M VEX.020301.04.7M VEX.020301.04.7M VEX.020301.04.7M VARIE PRODUCT LINEAR VEX.02.2M VARIE P		V6205301402A	Varta Photo Lithium 3V, 123A 2-Pack	4008496537327			
VEX.023.01.04.A. Varia Princ Untilum 3V, CX 215-Reck 400849653720R 10 9.54 VEX.023.01.04.A. Varia Princ Untilum 3V, CX 215-Reck 400849653720R 10 17.92 4 VEX.025.01.02.A. Varia Princ Untilum 3V, CR 21-Reck 400849653720R 10 17.92 4 No. EX.055.01.02.A. Varia Princ Untilum 3V, CR 21-Reck 400849653720R 10 17.92 4 PROD. EX.05.01.02.A. Varia Princ Untilum 6V, CR 20X Bulk 4008496537537A 10 17.92 4.58 2.94 VEX.05.01.02.A. Varia Princ Untilum 6V, CR 20X Bulk 4008496575537A 1.08 4.58 2.94 VEX.05.01.02.A. Varia Princ Untilum 6V, CR 20X Bulk 4008496575537A 1.08 4.58 2.94 VEX.05.01.04.0. Varia Rectronic Maline L 20V, VI 3 GA or LRA4 4008496575537 1.08 4.58 2.94 VEX.05.01.04.0. Varia Rectronic Lifhum 3V, CR 20X Branch 4008496275833 1.0 1.56 2.76 VEX.05.01.04.0. Varia Rectronic Lifhum 3V, CR 20X Branch 4008496277683 1.0 1.38 4.76 VEX.05.01.04.0. Varia Rectronic Lifhum 3V, CR 20X Branch 40008496277683 1.0 1.18 4.76 <td></td> <td>V6204301401A</td> <td>Varta Photo Lithium 6V, 223 or CR-P2 1-Pack</td> <td>4008496537242</td> <td></td> <td></td> <td></td>		V6204301401A	Varta Photo Lithium 6V, 223 or CR-P2 1-Pack	4008496537242			
V62065014011 Varia Proto Lithium 3V, CR2 2-Fack A008495657368 10 7.54 1.52		V6203301401A	Varta Photo Lithium 6V, 2CR5 1-Pack	4008496537204			
VEX.000.00.00.00.00.00.00.00.00.00.00.00.0		V6206301401	Varta Photo Lithium 3V, CR2 1-Pack	4008496537365			
Notion Official State of the Control of Marco Encroller Childran St. CRV3 1-Pack Notion Official State of S		V6206301402A	Varta Photo Lithium 3V, CR2 2-Pack	4008496537402			
Vec203201261A Varta Photo Lithium 6V, 2CtS Bulk Vec203201261A Varta Photo Lithium 6V, 2CtS Bulk Vec203201261A Varta Photo Lithium 6V, 2CtS Bulk Vec203201261A Varta Photo Lithium 6V, 2CtS Bulk Vec203201261A Varta Electronic Allaine 1.5V, V 10 GA or LRS4 Vec203201261A Varta Electronic Allaine 1.5V, V 10 GA or LRS4 Vec203201261A Varta Electronic Allaine 1.5V, V 10 GA or LRS4 Vec203201261A Varta Electronic Allaine 1.5V, V 10 GA or LRS4 Vec203201261A Varta Electronic Allaine 1.5V, V 10 GA or LRS4 Vec203201261A Varta Electronic Allaine 1.5V, V 10 GA or LRS4 Vec203201261A Varta Electronic Allaine 1.5V, V 10 GA or LRS4 Vec203201261A Varta Electronic Allaine 1.5V, V 10 GA or LRS4 Vec203201261A Varta Electronic Childium 3V, CR 1.3N Vec203201261A Varta Electronic Lithium 3V, CR 2.31 Vec203201261A Varta Electronic Lithium 3V, CR 2.31 Vec203201261A Vec203201		V6207301401A	Varta Photo Lithium 3V, CRV3 1-Pack	4008496537440			
VEXD3201501A Varia Photo Lithium 6V, 2018 Bulk VEXD3201501A Varia Photo Lithium 6V, 2018 Bulk VEXD3201501A Varia Photo Lithium 6V, 2018 Bulk VEXD3201501A Varia Photo Lithium 6V, CR123A Bulk VEXD3201501A Varia Electronic Alkaline 1.5V, V1G Acr 18.5A VEXD320101A01 Varia Electronic Alkaline 1.5V, V1G Acr 18.5A VEXD3201A01 Varia Electronic Alkaline 1.5V, V1G Acr 18.5A VEXD3201A01 Varia Electronic Alkaline 1.5V, V1G St VIG. VIG. VIG. VIG. VIG. VIG. VIG. VIG.	arta® - Ph	hoto Lithium Bulk					
NG2251014011 Varia Electronic Lithium BV, CR123A Bulk Electronic Lithium BV, CR123A Bulk Electronic Lithium BV, CR123A Bulk Electronic Lithium BV, CR123A Bulk Electronic Lithium BV, CR123C BV, VIS GA CR1854 A008496278534 10 10 1.18 NG225101401 Varia Electronic Alkaline 1.5V, VIS GA CR1854 A008496278534 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 23 GA A008496278633 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 23 GA A008496278633 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 122D A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 122D A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 122D A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.18 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.28 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.28 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.28 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.28 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.28 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.28 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.28 NG225101401 Varia Electronic Lithium BV, CR 2025 A008496278639 10 10 1.28 NG225101401 Varia		V6203201501A	Varta Photo Lithium 6V, 2CR5 Bulk	4008496163915			
Matching Variable Var		V6205201501A	Varta Photo Lithium 6V, CR123A Bulk	4008496575527	~		
M40011014-011 Varta Electronic Alfailine 1.5V, N GA OR 1854 M40011014-011 Varta Electronic Alfailine 1.5V, V 13 GA or 1844 M40011014-011 Varta Electronic Alfailine 1.5V, V 13 GA or 1844 M40011014-011 Varta Electronic Alfailine 1.5V, V 13 GA or 1844 M40011014-011 Varta Electronic Alfailine 1.5V, V 13 GA or 1844 M40011014-011 Varta Electronic Alfailine 1.5V, V 13 GA or 1844 M4001104-011 Varta Electronic Alfailine 1.5V, V 13 GA or 1844 M4001104-011 Varta Electronic Alfailine 1.5V, V 13 GA or 1844 M4001104-011 Varta Electronic Lithium 3V, CR 1216 M601104-011 Varta Electronic Lithium 3V, CR 2025 M601104-011 Varta Electron	arta® - Ele	ectronic Alkaline		THE PROPERTY OF THE PROPERTY O			
W42721014011 Variate Electronic Alkaline LSV, V 13 GA or LR54 V42724101401 Variate Electronic Alkaline LSV, V 13 GA or LR44 V42724101401 Variate Electronic Alkaline LSV, V 13 GA or LR44 V42725101401 Variate Electronic Alkaline LSV, V 13 GA or LR44 V42725101401 Variate Electronic Alkaline LSV, V 13 GA or LR44 VACS2101401 Variate Electronic Alkaline LSV, V 12 GA or LR44 VACS2101401 Variate Electronic Alkaline ELSV, V 12 GA or LR44 VACS2101401 Variate Electronic LR41 VACS2101401 VACS2101401 VACS210401		V4001101401	Varta Electronic Alkaline 1.5V, N	4008496128136			
W427561014011 Variat Electronic Alkaline 1.5V, V.13 GA or LR44 4008495627628 10 1.18 W4223101401 Variat Electronic Alkaline 1.5V, V.13 GA A0084956273683 10 1.0 2.16 V4223101401 Variat Electronic Alkaline EV, V.033 GA V.0354010401 Variat Electronic Lithium V.0234010401 Variat Electronic Lithium V.0.13 Mode Keb13101401 Variat Electronic Lithium 3V, CR 1230 V.0.23 Mode V.0.23 Mode V.0.23 Mode V.0.23 Mode W623101401 Variat Electronic Lithium 3V, CR 1230 V.0.23 Mode V.0.23	10GA	V4274101401		4008496297634			
V4223101401 Varta Electronic Alkaline 12V, V52 GA	13GA	V4276101401	Varta Electronic Alkaline 1.5V, V 13 GA or LR44	4008496297641			
V46261014011 Varta Electronic Alkaline L.5v, V625 U A008496273683 10 10 1.56 V4626101401 Varta Electronic Lithium 3V, CR 123 N Varta Electronic Lithium 3V, CR 1216 A008496274055 10 10 1.80 V62161001401 Varta Electronic Lithium 3V, CR 1216 A008496270705 10 1.80 V62161001401 Varta Electronic Lithium 3V, CR 2015 V6025101401 Varta Electronic Lithium 3V, CR 2025 V6025101401 Varta Electronic Lithium 3V, CR 2025 V6025101401 Varta Electronic Lithium 3V, CR 2025 V6025101401 Varta Electronic Lithium 3V, CR 2020 V6025101401 Varta Electronic Lithium 3V, CR 2430 V6025101401 Varta Electronic Lithium 3V, CR 2450 V6025101401 Varta Electronic Lithium 3V, CR 2450 V6025101401 Varta Electronic Lithium 3V, CR 2450 V6025101401 Varta Electronic Lithium 6V, V 28 PXL Or 2CR 1/3N V6025101401 Varta Electronic Silver 1.55 V, V 76 PX V6025101401 Varta Electronic Silver 1.55 V, V 76 PX V6025101401 Varta Electronic Silver 301 in Pill Box Mercury Free V2033101111 Varta Electronic Silver 301 in Pill Box Mercury Free V2033101111 Varta Electronic Silver 301 in Pill Box Mercury Free V2033101111 Varta Electronic Silver 301 in Pill Box Mercury Free V2033101111 Varta Electronic Silver 301 in Pill Box Mercury Free V6033101111 Varta Electronic Silver 301 in Pill Box Mercury Free V6033101111 Varta Electronic Silver 301 in Pill Box Mercury Free V6033101111 Varta Electronic Silver 301 in Pill Box Mercury Free V6033101111 Varta Electronic Silver 301 in Pill Box Mercury Free V60333101111 Varta Electronic Silver 301 in Pill Box Mercury Free V60333101111 Varta Electronic Silver 301 in Pill Box Mercury Free V60333101111 Varta Electronic Silver 301 in Pill Box Mercury Free V603333101111 Varta Electronic Silver 30	23GA	V4223101401	Varta Electronic Alkaline 12V, V 23 GA	4008496261628			
Med24101401 Varta Electronic Alkaline 6V, V 4034 PX or 28 PX A 4008436274055 10 10 4.76 Med24101401 Varta Electronic Lithium 3V, CR 1210 4008436274147 10 1.80 Med24101401 Varta Electronic Lithium 3V, CR 1210 4008436276839 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 4008436276839 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 4008436276839 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 4008436276839 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 4008436276839 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 4008436276839 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 4008436276839 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 4008436276835 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 400843627639 10 1.80 Med25101401 Varta Electronic Lithium 3V, CR 2030 400843627639 10 1.80 Med25101401 Varta Electronic Silver 155 V, V SP PX 400843627692 10 10 1.48 Med25101401 Varta Electronic Silver 155 V, V SP PX 400843627692 10 10 10.32 Med25101401 Varta Electronic Silver 201 in Pill Box Mercury Free 4008436273911 10 10.32 Med25101401 Varta Electronic Silver 303 in Pill Box Mercury Free 400843627391 400843627391 10 10 1.44 10 1.40 Med25101411 Varta Electronic Silver 309 in Pill Box Mercury Free 4008436273757 400843627	525U	V4626101401	Varta Electronic Alkaline 1.5V, V 625 U	4008496273683			
V6231101401 Varta Electronic Lithium 3V, CR 1/3 N V6231101401 Varta Electronic Lithium 3V, CR 1/3 N V6231101401 Varta Electronic Lithium 3V, CR 1/3 N V6231101401 Varta Electronic Lithium 3V, CR 1/2 O V6231101401 Varta Electronic Lithium 3V, CR 1/2 O V6231101401 Varta Electronic Lithium 3V, CR 2/2 O V623101401 Varta Electronic Lithium 3V, CR 2/2 O V6230101401 Varta Electronic Lithium 6V, V 28 PXL or 2CR 1/3 N V6230101401 Varta Electronic Silver 1.5 S V, V 76 PX V620101401 Varta Electronic Silver 6.2 V, V 28 PX V620101401 Varta Electronic Silver 6.2 V, V 28 PX V620101401 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030110111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Varta Electronic Silver 3/0 I Pill Box Mercury Free V2030101111 Va	4034PX	V4034101401	Varta Electronic Alkaline 6V, V 4034 PX or 28 PXA	4008496274055			
V631311014011 Varta Electronic Lithium 3V, CR 1/3 N 4008496274147 10 6.02 V6216101401 Varta Electronic Lithium 3V, CR 1216 4008496270705 10 10 1.80 V6226101401 Varta Electronic Lithium 3V, CR 1220 4008496276839 10 10 1.80 V6016101401 Varta Electronic Lithium 3V, CR 2016 4008496276839 10 10 1.38 V6025101401 Varta Electronic Lithium 3V, CR 2025 4008496276882 10 10 1.38 V6032101401 Varta Electronic Lithium 3V, CR 2032 4008496276882 10 10 1.38 V6320101401 Varta Electronic Lithium 3V, CR 2032 4008496276882 10 10 1.80 V6320101401 Varta Electronic Lithium 3V, CR 2032 4008496270835 10 10 1.80 V6450101401 Varta Electronic Lithium 3V, CR 2032 4008496270835 10 10 1.80 V6450101401 Varta Electronic Lithium 3V, CR 2030 4008496270835 10 10 1.80 V6450101401 Varta Electronic Lithium 6V, V 28 PX A008496	arta® - Ele	ectronic Lithium					
V6216101401 Varia Electronic Lithium 3V, CR 1216 400849627059 10 1.80 V6220101401 Varia Electronic Lithium 3V, CR 1220 4008496276839 10 10 1.80 V6015101401 Varia Electronic Lithium 3V, CR 2015 4008496276839 10 10 1.38 V6025101401 Varia Electronic Lithium 3V, CR 2025 400849627887 10 10 1.38 V6035101401 Varia Electronic Lithium 3V, CR 2032 400849627882 10 10 1.38 V6351010401 Varia Electronic Lithium 3V, CR 2030 4008496270835 10 10 1.38 V6450101401 Varia Electronic Lithium 3V, CR 2430 4008496270835 10 10 1.80 V6450101401 Varia Electronic Lithium 3V, CR 2450 4008496270835 10 10 1.80 V6450101401 Varia Electronic Lithium 6V, V 28 PXL or 2CR 1/3N Electronic Silver Silver 6.2V, V 28 PX 1.40 1.482 1 V623100401 Varia Electronic Silver 6.2V, V 28 PX Electronic Silver 6.2V, V 28 PX 1.40 1.482 1 V6023101401 Varia E	31/3N	V6131101401	Varta Electronic Lithium 3V, CR 1/3 N	4008496274147	L		_
V6220101401 Varta Electronic Lithium 3V, CR 1220 VCR 1220	81216	V6216101401	Varta Electronic Lithium 3V, CR 1216	4008496270705			
V6016101401 Varta Electronic Lithium 3V, CR 2016 4008496276639 10 1.38 1 1.38 1 1.38 1 1.38 1 1.38 1 1.38 1 1.38 1 1.38 1 1.38 1 1.38 1 1.38 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.38 1 1 1.30 1 1.30 1 1 1.30 1 1 1.30 1 1 1.30 1 1 1.32 1 1 1.32 1 1 1.32 1 1 1.32 1 1 1 <t< td=""><td>R1220</td><td>V6220101401</td><td>Varta Electronic Lithium 3V, CR 1220</td><td>4008496276899</td><td></td><td></td><td></td></t<>	R1220	V6220101401	Varta Electronic Lithium 3V, CR 1220	4008496276899			
V6025101401 Varta Electronic Lithium 3V, CR 2025 10 1.38 4008496276875 10 1.38 8 V6032101401 Varta Electronic Lithium 3V, CR 2032 4008496276882 10 10 1.38 V6320101401 Varta Electronic Lithium 3V, CR 2430 4008496276929 10 10 1.80 V6450101401 Varta Electronic Lithium 3V, CR 2450 4008496276929 10 10 3.50 V6450101401 Varta Electronic Lithium 6V, V28 PXL or 2CR 1/3N 4008496274154 10 10 3.50 Electronic Silver 6.2V, V28 PX 4008496274062 10 10 10 3.50 VA028101401 Varta Electronic Silver 6.2V, V28 PX 4008496274062 10 10 10 10.32 1 VA028101401 Varta Electronic Silver 6.2V, V28 PX 4008496274062 10 10 10 10.32 1 V203011011.1 Varta Electronic Silver 303 in Pill Box Mercury Free 4008496272659 10 10 10 10 10 10 10 10 10 10 10	R2016	V6016101401	Varta Electronic Lithium 3V, CR 2016	4008496276639			
V6032101401 Varta Electronic Lithium 3V, CR 2032 V6032101401 Varta Electronic Lithium 3V, CR 2320 V6032101401 Varta Electronic Lithium 3V, CR 2430 V6320101401 Varta Electronic Lithium 3V, CR 2430 V6430101401 Varta Electronic Lithium 3V, CR 2450 V6430101401 Varta Electronic Lithium 3V, CR 2450 V6430101401 Varta Electronic Lithium 3V, CR 2450 V6430101401 Varta Electronic Lithium 6V, V 28 PXL or 2CR 1/3N V6430101401 Varta Electronic Lithium 6V, V 28 PXL or 2CR 1/3N V6430101401 V608496274154 V0 V0 V6430101401 V608496274154 V0 V0 V6430101401 V608496274154 V0 V0 V6 V6 V608496274154 V0 V6 V6 <th< td=""><td>32025</td><td>V6025101401</td><td>Varta Electronic Lithium 3V, CR 2025</td><td>4008496276875</td><td></td><td></td><td></td></th<>	32025	V6025101401	Varta Electronic Lithium 3V, CR 2025	4008496276875			
V6320101401 Varta Electronic Lithium 3V, CR 2320 1.60 1.60 V6430101401 Varta Electronic Lithium 3V, CR 2430 10 1 1 1.60 V6430101401 Varta Electronic Lithium 3V, CR 2450 10 1	42032	V6032101401	Varta Electronic Lithium 3V, CR 2032	4008496276882			
V6430101401 Varta Electronic Lithium 3V, CR 2430 10 1.80 V6450101401 Varta Electronic Lithium 3V, CR 2450 10 10 1.80 V6231101401 Varta Electronic Lithium 6V, V 28 PXL or 2CR 1/3N 10 10 10 3.50 Flectronic Silver V6231101401 Varta Electronic Silver 6.2V, V 28 PX 10 10 14.82 1 V4075101401 Varta Electronic Silver 6.2V, V 28 PX 4008496274062 10 10 2.22 V4028101401 Varta Electronic Silver 6.2V, V 28 PX Electronic Watch Batteries 10 10 10 10.32 1 V2030110111 Varta Electronic Silver 301 in Pill Box Mercury Free 4008496272679 10 10 1.44 1 V20303101111 Varta Electronic Silver 309 in Pill Box Mercury Free 4008496272757 10 10 1.44 1	32320	V6320101401	Varta Electronic Lithium 3V, CR 2320	4008496270835			
V6450101401 Varta Electronic Lithium 3V, CR 2450 V6450101401 Varta Electronic Lithium 6V, V28 PXL or 2CR 1/3N V6231101401 Varta Electronic Lithium 6V, V28 PXL or 2CR 1/3N V6231101401 V608496274154 10 10 3.50 N7 Electronic Silver List V V Z6 PX V4075101401 Varta Electronic Silver 6.2V, V 28 PX Rectronic Watch Batteries V608496273911 10 10 2.22 10 10 10.32 1 V2030110111 Varta Electronic Silver 301 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 309 in Pill Box Mercury Free V20309101111 Varta Electronic Silver 309 in Pill Box Mercury Free V20309101111 Varta Electronic Silver 309 in Pill Box Mercury Free V20309101111 Varta Electronic Silver 309 in Pill Box Mercury Free V20309101111 V20300101111 V203001010111 V20300101111 V20300101111 V2030010	R2430	V6430101401	Varta Electronic Lithium 3V, CR 2430	4008496276929			
V6231101401 Varta Electronic Lithium 6V, V 28 PXL or 2CR 1/3N V6231101401 Varta Electronic Lithium 6V, V 28 PXL or 2CR 1/3N V608496274154 10 10 14.82 V4075101401 Varta Electronic Silver 6.2V, V 28 PX V608496273911 10 10 10.32 V608496273911 Varta Electronic Silver 301 in Pill Box Mercury Free V20303101111 Varta Electronic Silver 303 in Pill Box Mercury Free V20303101111 Varta Electronic Silver 303 in Pill Box Mercury Free V20303101111 Varta Electronic Silver 303 in Pill Box Mercury Free V20303101111 Varta Electronic Silver 303 in Pill Box Mercury Free V20303101111 Varta Electronic Silver 303 in Pill Box Mercury Free V20303101111 Varta Electronic Silver 303 in Pill Box Mercury Free V20303101111 Varta Electronic Silver 303 in Pill Box Mercury Free V20303101111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 303 in Pill Parta Parta Parta Parta Parta Parta Parta Parta Parta Parta Parta Part	R2450	V6450101401	Varta Electronic Lithium 3V, CR 2450	4008496270972			
- Electronic Silver V4075101401 Varta Electronic Silver 0.2V, V 28 PX 4008496274062 10 10 2.22 V4028101401 Varta Electronic Silver 6.2V, V 28 PX 4008496273911 10 10 1.22 Electronic Watch Batteries V2030110111 Varta Electronic Silver 301 in Pill Box Mercury Free 4008496272652 10 10 1.22 V2030310111 Varta Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varta Electronic Silver 309 in Pill Box Mercury Free 4008496272679 10 10 1.44 V2030910111 Varta Electronic Silver 309 in Pill Box Mercury Free A0084962727579 10 10 1.44	28PX	V6231101401	Varta Electronic Lithium 6V, V 28 PXL or 2CR 1/3N	4008496274154		L	
V4075101401 Varta Electronic Silver 1.55 v, v 76 PX V 76 PX V 2028101401 V 3 PX V 3 PX <td>arta® - El(</td> <td>ectronic Silver</td> <td></td> <td></td> <td>The state of the s</td> <td></td> <td></td>	arta® - El(ectronic Silver			The state of the s		
V4028101401 Varia Electronic Silver 6.2V, V 28 PX 4008496273911 10 10 10.32 • Electronic Watch Batteries V2030110111 Varia Electronic Silver 301 in Pill Box Mercury Free 4008496272662 10 10 1.22 V2030310111 Varia Electronic Silver 303 in Pill Box Mercury Free V2030310111 Varia Electronic Silver 309 in Pill Box Mercury Free 4008496272679 10 10 1.44 V2030910111 Varia Electronic Silver 309 in Pill Box Mercury Free Anneady 277751 10 10 10 10	76PX	V4075101401	Varta Electronic Silver 1.55 V, V 76 PX	4008496274062			
'arta Electronic Silver 301 in Pill Box Mercury Free 4008496272662 10 10 1.22 'arta Electronic Silver 303 in Pill Box Mercury Free 4008496272679 10 10 1.44 'arta Electronic Silver 309 in Pill Box Mercury Free 4008496272679 10 10 1.44	28PX	V4028101401	Varta Electronic Silver 6.2V, V 28 PX	4008496273911	İ		
Varta Electronic Silver 301 in Pill Box Mercury Free 4008496272662 10 10 1.22 Varta Electronic Silver 303 in Pill Box Mercury Free 4008496272679 10 10 1.44 Varta Electronic Silver 309 in Pill Box Mercury Free 40084962727571 10 10 1.44	arta® - Elk	ectronic Watch Batte	ries	The state of the s			
Varta Electronic Silver 303 in Pill Box Mercury Free 4008496272679 10 10 1.44 Varta Electronic Silver 309 in Pill Box Mercury Free 4008496277751 10 10 0.05		V20301101111		4008496272662			
Varta Electronic Silver 309 in Pill Box Mercury Free		V20303101111		4008496272679			
		V20309101111	Varta Electronic Silver 309 in Pill Box Mercury Free	4008496272761			

			0.12,1200,000,		7		
	V20317101111	Varta Electronic Silver 317 in Pill Box Mercury Free	4008496272785		10 10	1.40	140.00
	V20319101111	Varta Electronic Silver 319 in Pill Box Mercury Free	4008496260652		L		128.00
	V20321101111	Varta Electronic Silver 321 in Pill Box Mercury Free	4008496272792				96.00
-	V20329101111	Varta Electronic Silver 329 in Pill Box Mercury Free	4008496272815			1.28	128.00
	V20341101111	Varta Electronic Silver 341 in Pill Box Mercury Free	4008496272822				176.00
	V20344101111	Varta Electronic Silver 344 in Pill Box Mercury Free	4008496272976			1.38	138.00
	V20357101111	Varta Electronic Silver 357 in Pill Box Mercury Free	4008496273256		10 10		132.00
	V20362101111	Varta Electronic Silver 362 in Pill Box Mercury Free	4008496273287		10 10		66.00
	V20364101111	Varta Electronic Silver 364 in Pill Box Mercury Free	4008496273294	-		0.58	58.00
	V20370101111	Varta Electronic Silver 370 in Pill Box Mercury Free	4008496273300		10 10	1.30	130.00
	V20371101111	Varta Electronic Silver 371 in Pill Box Mercury Free	4008496273386	-	10 10	0.72	72.00
	V20373101111	Varta Electronic Silver 373 in Pill Box Mercury Free	4008496273416			1.40	140.00
	V20377101111	Varta Electronic Silver 377 in Pill Box Mercury Free	4008496273423	1	10 10	0.72	72.00
	V20379101111	Varta Electronic Silver 379 in Pill Box Mercury Free	4008496273508	1		0.72	72.00
	V20384101111	Varta Electronic Silver 384 in Pill Box Mercury Free	4008496273560	1	10 10	0.68	68.00
	V20386101111	Varta Electronic Silver 386 in Pill Box Mercury Free	4008496273577	T	10 10		102.00
	V20389101111	Varta Electronic Silver 389 in Pill Box Mercury Free	4008496273584	I			78.00
	V20390101111	Varta Electronic Silver 390 in Pill Box Mercury Free	4008496273652				96.00
	V20391101111	Varta Electronic Silver 391 in Pill Box Mercury Free	4008496273669				76.00
	V20392101111	Varta Electronic Silver 392 in Pill Box Mercury Free	4008496273706				42.00
	V20393101111	Varta Electronic Silver 393 in Pill Box Mercury Free	4008496273843	I		0.86	86.00
	V20394101111	Varta Electronic Silver 394 in Pill Box Mercury Free	4008496273850		10 10		94.00
	V20395101111	Varta Electronic Silver 395 in Pill Box Mercury Free	4008496273867	I	10 10	0.64	64.00
	V20396101111	Varta Electronic Silver 396 in Pill Box Mercury Free	4008496274239	1	10 10	0.70	70.00
	V20397101111	Varta Electronic Silver 397 in Pill Box Mercury Free	4008496274246	1	10 10	0.64	64.00
	V20399101111	Varta Electronic Silver 399 in Pill Box Mercury Free	4008496274352	1		08.0	80.00
Lantern and	antern and Barricade Batteries	The state of the s					
~	806	6-Volt Spring Terminals, Alkaline D Cell	12800463664		9 9	15.64	93.84
~	808	6-Volt Spring Terminals, Alkaline F Cell	12800500253		4 4	17.22	68.88
	918	6-Volt Screw Terminals, General Purpose	12800186891				97.20
7,	941	6-Volt Spring Terminals, General Purpose	12800222858			5.22	62.64
5,	944R	6-Volt Spring Terminals, Heavy Duty	12800223435				41.76
	944-2R	6-Volt Spring Terminals (2-Pack), Heavy Duty	12800374083		8 4	•	54.08
	945K4	6-Volt Lantern, Screw Terminals, Heavy Duty	12800223350				33.36
	976	12-Volt Screw Terminals, General Purpose	12800206285			2	120.36
	- AD- AD	o-voic spring Terminals, defined Purpose	12800421350				58.32
	GV-ND GV-HDM	6-Voit Spring Terminals, Heavy Duty	12800421503				67.68
Emergency	Emergency lenition and Fonce Batterior	Developing retinition, reavy Daty Maximum	12800421688	-	12 12	6.72	80.64
9	641	6-Volt Crew Tarminale Elactric Conca	10100000		L	L	
	803	7 5-Volt Scraw Terminals Albalina Emergency Lastons Datton	12800226405				272.16
0	903	7.5-Volt Screw Terminals, Emergency	1200464418		4		204.24
OPP Recharg	gable Pre-charged Lov	OPP Rechargable Pre-charged Low Self Discharge Batteries	12000103700		4	47.88	191.52
1	LD715-40P	OPP Low Self Discharge NiMH Carded AA-4 Pack	17800517515	N/A	4	14.10	03.10
7	LD724-40P	OPP Low Self Discharge NiMH Carded AAA-4 Pack	12800512539	N/A	9		84.60
ليس	LD715-80P	OPP Low Self Discharge NiMH Carded AA-8 Pack	12800512522	N/A	9		139.80
Easy Recharg	Easy Rechargable Battery Chargers	ırs					20.001

	1 377-20		V/NI	_	00:54		87.30
	PS131-4BE	OPP 4 position AA/AAA Charger with 2AA and 2AAA OPP NIMH batteries	12800513253 N/A	Ą			62.00
Platinum	Rechargable Pre-char	Platinum Rechargable Pre-charged Low Self Discharge Batteries					
	PL715-4	2100 mAh NIMH AA 4-pack	12800513185 N/A	¥	6 17.70		106.20
	PL724-4	800 mAh NIMH AAA 4-pack		٨,			106.20
	PL714-2 GEN	3000 mAh NIMH C 2-pack		Ą			106.20
	PL713-2 GEN	3000 mAh NIMH D 2-pack	12800513161 N/A	Ą	6 17.70		106.20
	PL1604-1 GEN	200 mAh NIMH 9V 1-pack		Y.			106.20
Platinum	Platinum Rechargable Battery Chargers	Chargers					
	PS33-4B	Platinum 4 position AA/AAA Charger with 2AA and 2AAA Platinum NIMH batteries	12800513536 N/A	Y,	4 21.16		84.64
	PS20PL GEN	Platinum AA/AAA/C/D/9V Universal Charger		Ą	3 37.40		112 20
Hearing A	Hearing Aid Batteries]				27.77
	L10ZA-8ZM	Mercury Free Hearing Aid Battery Size 10 8 Pack	12800511730 N/A	Ą	5 1776		88 80
	L13ZA-8ZM	Mercury Free Hearing Aid Battery Size 13 8 Pack		, A	5 15.68		78.40
	L312ZA-8ZM	Mercury Free Hearing Aid Battery Size 312 8 Pack		, A			78.40
	L675ZA-8ZM	Mercury Free Hearing Aid Battery Size 675 8 Pack		Ą			78.50
	L10ZA-16ZM	Mercury Free Hearing Aid Battery Size 10 16 Pack		Ą			154.40
	L13ZA-16ZM	Mercury Free Hearing Aid Battery Size 13 16 Pack		, A			134 40
	L312ZA-16ZM	Mercury Free Hearing Aid Battery Size 312 16 Pack		Ą	26.88		134.40
	L10ZA-24ZM	Mercury Free Hearing Aid Battery Size 10 24 Pack		A .			165.68
	L13ZA-24ZM	Mercury Free Hearing Aid Battery Size 13 24 Pack		A			146.64
	L312ZA-24ZM	Mercury Free Hearing Aid Battery Size 312 24 Pack		Į.			176.61
Photo Batteries	teries						10.01
	RL123A-1	Photo Lithium Carded 123A 1-Pack, 3.0 Volt	12800462339 N/A	Ą	10.84		SE ON
	RL123A-2	Photo Lithium Carded 123A 2-Pack, 3.0 Volt		A			123.24
	RLCR2-1	Photo Lithium Carded CR2 1-Pack, 3.0 Volt	Π	. 4			65 0A
	RLCR2-2	Photo Lithium Carded CR2 2-Pack, 3.0 Volt		A			173 24
	RL2CR5-1	Photo Lithium Carded 2CRS 1-Pack, 6.0 Volt					110 28
	RL223A-1	Photo Lithium Carded 223A 1-Pack, 6.0 Volt		 			119 28
	RLCRV3-1	Digital Photo Lithium Carded CRV3 1-Pack, 3.0 Volt		A			150.84
Electronic	Electronic Keyless Entry Batteries	1					5.5
	KE23A-1ZM	Alkaline Keyless Entry Battery 23A Size Carded 1-Pack, 12 Volt Mercury Free	12800517145 N/A	A	6 2.3	2.24 13	13.44
	KECR1616-1	Lithium Keyless Entry Battery 1616 Size Carded 1-Pack, 3.0 Volt		4			13.44
	KECR1620-1	Lithium Keyless Entry Battery 1620 Size Carded 1-Pack		A			13.44
	KECR1632-1	Lithium Keyless Entry Battery 1632 Size Carded 1-Pack	12800509140 N/A	A			13.44
	KECR2016-1	Lithium Keyless Entry Battery 2016 Size Carded 1-Pack, 3.0 Volt	12800462742 N/A	A	6 2.24		13.44
	KECR2025-1	Lithium Keyless Entry Battery 2025 Size Carded 1-Pack, 3.0 Volt	12800462841 N/A	A			13.44
	KECR2032-1	Lithium Keyless Entry Battery 2032 Size Carded 1-Pack, 3.0 Volt		A			13.44
Silver Wat	Silver Watch/Electronic Batteries	- 1					
	303/357-1ZM	Silver Watch/Electronic Battery Carded 1-Pack, 1.5 Volt Mercury Free	12800516568 N/A	A	6 1.84	L	11.04
	376/377-1ZM	Silver Watch/Electronic Battery Carded 1-Pack, 1.5 Volt Mercury Free		4			7 44
Lithium Batteries	tteries						
	UP9VL-1	Ultra Pro 9V Lithium Card 1-Pack	12800513567 N/A		12 10.44	L	175 28
	UP9VL-8	Ultra Pro 9V Lithium Pro 8-Pack					501 60
Battery	Stock Number/	Description		Case	Eacl	Case	
Size	SKU		UPC	Ottv.			په
Roughnec	Roughneck High Performance LED Flashlights	ED Flashlights				8	
AA	RNC3AA-B DNT2AAA B	130 Lumen 3AA LED FLEX 360 Clamp Utility Light with Alkaline Batteries	12800512249		4 42.32		169.28
TTT	NIN I SHAHED	[200] Lijmen SAAA ibrirali Fij Fischight with dikama kattarias X. Holstor	0100001				

(
2 4 4	KNKZD-8	180 Lumen 2D Rubbermate LED Flashlight with Alkaline Batteries	12800512201	4	32.32	129.28
AAA	KINHLSAAA-B	80 Lumen SAAA LED Headlight with 2 Headstraps with Alkaline Batteries	12800512348	4	25.86	103.44
¥	RNF4AA-B	120 Lumen 4AA Focus Control LED Flashlight with Alkaline Batteries	12800512188	4	19.38	77.52
۵	RN2D1W-B	80 Lumen 2D 1W LED Flashlight with Alkaline Batteries	12800512195	4	16.80	67.20
Black and L	Black and Decker Lights					
AA	BD2AALED-B	2AA LED Flashlight with Batteries	12800515271	4	10.70	42.80
AA	BD2AASLED-B	2AA LED Swivel Flashlight with Batteries	12800515288	4	12.04	48.16
D	BD2DSLED-B	2D LED Swivel Flashlight with Batteries	12800515295	4	17.42	69.68
AAA	BDSC-B	2AAA LED Pocket Flex Light	12800513369	4	15.50	62.00
AA	BDCLIP-B	2AA Clip Light with Batteries	12800513352	4	21.16	84.64
D	BDBEAM-B	4D Beam Lantern with Batteries	12800513420	2	21.16	42.32
Industrial TM Lights	¹ Lights					10:1
N9	301K	6-Volt Metal Lantern with Krypton Bulb	12800465569	9	41 38	248.28
AA	ILED2AA	2AA LED Economy Flashlight	12800512287	9	4.92	29.52
D	ILED2D	2D LED Economy Flashlight	12800512300	9	632	37.92
۵	I2DLED-B	2D 3 LED Flashlight with Batteries	12800508303	9	12.68	76.08
D	I2D-B	2D Flashlight with Krypton Bulb & Batteries	12800451234	9	10.16	60.96
D	IZD BULK	2D Yellow Industrial Flashlight with Ring Hanger	12800480593	24	6 54	156.96
D	IN2	2D Yellow Industrial Flashlight with Ring Hanger	12800451845	. 4	6.76	40 FE
D	IN2-K	2D Flashlight with Krypton Bulb	12800451852	D (4	7.62	75 77
۵	IN2-KML	2D Flashlight with Krypton Bulb & Magnet	12800451883	D 4	10.7	43.72
D	IN2-MS	2D Orange Safety Flachlight with Shock and Corrosion Resistance	12800451883	0 0	10.54	63.24
D	IN3	3D Flacklight with Ring Hanger	12000451500	0 0	2.04	54.24
AA	12AA-R	20 resultable with milk Batteries	12800451913	9 0	8.38	53.88
AA	II 12AA-B	200 Caring It with Datteries	12800452071	9	7.90	47.40
{	מ-ערגיטו	2AS SWIVE Flashinght with Batternes	12800465804	9	11.18	67.08
2 3	13LZD-B	CONTRACTOR STATE OF THE STATE O	12800465835	9	14.36	86.16
20 0	10V-BZ	b-voir Lantern With Krypton Buib & 6V Battery	12800465781	2	15.84	31.68
0,755	IVZD	2D Yellow Utility Flashlight in Tuck Carton	12800482337	12	3.94	47.28
6V/4D	KFL	6V / 4D Floating Lantern with Swivel Stand	12800403370	9	11.20	67.20
AA	K2AA-BA	2AA Roughneck Xtreme Flashlight with Batteries	12800485727	9	11.30	67.80
	R2D	2D Roughneck Xtreme Flashlight	12800451135	9	13.64	81.84
Q	R3D	3D Roughneck Xtreme Flashlight	12800451166	9	14.32	85.92
	W8B	8 inch Polyethylene Wand (Red)	12800488216	12	2.82	33.84
Indestructi	Indestructible/DIY Lights					
AAA	DIY3AAA-B	3AAA Indestructible Industrial Grade High Performance LED Flashlight	12800515578	4	25.40	101.60
AAA	DIYHL3AAA-B	3AAA Indestructible Industrial Grade Performance LED Headlight	12800515639	4	14.10	56.40
' ا ا	DIYBEAM-B	4C Indestructible Industrial Grade High Performance LED Lantern	12800515608	4	31.04	124.16
Remington	Remington'''' Arms Licensed Lights	ts				
AA	RM2AA-B	2AA 2 Watt LED Flashlight with Alkaline Batteries & Holster	12800508808	4	45.28	181.12
AAA	RM3AAA-B	3AAA 2in1 LED Flashlight/Lantern with Alkaline Batteries & Holster	12800508846	4	51.74	206.96
CR123A	RM123A-B	2 CR123A 3 Watt LED Flashlight with Lithium Batteries & Holster	12800508815	4	64.68	258.72
AA	RMHL4AA-BTP	4AA 4 Watt 150 Lumen Headlight with Extreme Track TM Mode & Alkaline Batteries	12800508839	4	64 68	258 72
D	RM4DLN	4D 6 Watt Area Lantern	12800508853	4	58.22	232.72
AAA	RMBTHL-B	3AAA Blood Tracker 3-N-1 LED Headlight	12800515332		70.77	117.00
2032	RMCLPBT-B	2 CR2032 Blood Tracker LED Hat Clip Light	12800515356	1 4	20.22	27 67
C	RMSP-B	4C 3 Watt LED Spotlight	12800515349	- 0	77.27	10.00
Sportsman® Xtreme	Xtreme		0.0000000000000000000000000000000000000	2	47.32	170.30
AA	SE1W2AA-B	2AA 1 Watt LED Metal Light with Alkaline Batteries	12800506460	4	26 38	105 52
				t	70.30	103.32

AA	SELUX2AA3W-B	2AA 3 Watt Luxeon LED Flashlight with Alkaline Batteries	12800506996	4	46.58	186.37
AA	SEF2AA-B	2AA 2 Watt LED EZ-Focus Flashlight with Alkaline Batteries	12800507894	4	39.50	158.00
U	SE4W3C		12800506514	4	41.92	167.68
AA	SE1WHLT-B	1AA 1 Watt LED Multi Function Headlight with Diffuser & Alkaline Batteries	12800506484	. 4	34.14	136.56
AA	SE3AAHDLT-BX	3AA 3 Watt LED Headlight with Alkaline Batteries	12800507610	4	42.32	169.28
AAA	SE3AAAMN-B	3AAA Mini LED Flashlight with Alkaline Batteries & Holster	12800512171	4	21.16	84.64
AAA	SESLEDHLT-B	3AAA 5 LED Headlight with Alkaline Batteries	12800512867	4	14.10	56.40
AAA	SPHW3AAA-BX	3AAA 0.5 Watt LED Aluminum Flashlight with Alkaline Batteries & Holster	12800507542	9	15.50	93.00
AAA	SPHLT3AAA-B	3AAA 5 LED Multi-Function Headlight with Alkaline Batteries	12800507108	4	21.72	86.88
AA	SP1W3AALN-B	3AA 1 Watt LED Mini Lantern with Alkaline Batteries	12800507870	4	22.58	90.32
۵	SE3DLNTP	3D 4 Watt 300 Lumen Lantern	12800508587	4	42.34	169.36
۵	SP4D-KB	4D Krypton Area Lantern	12800473946	9	22.92	137.52
D	SP8D	8D Area Lantern with Twin 9 Watt Fluorescent U-Tubes	12800485543	4	45.32	181.28
Brilliant Solutions TM	Jutions					
AA	BRSELED2AA-BA	2AA LED Flashlight with Batteries	12800512270	9	5.62	33.72
D	BRSELED2D-BA	2D LED Flashlight with Batteries	12800512294	9	7.04	42.24
AAA	BRSLED3AAA-BA	3AAA LED Flashlight with Batteries	12800506347	4	9.28	37.12
AAA	BRSLED3AAA-B2A	3AAA LED Flashlight Twin Pack with Batteries	12800507122	4	17.06	68.24
AAA	BRSLEDPEN-BA	1AAA LED Pen Light with Battery	12800506613	12	6.18	74.16
CR1220	BRSLEDKEY-BRA	LED Keychain with Mixed Color Case & Batteries	12800509485	12	4.66	55.92
AAA	BRSLEDKEY-BMFA	1AAA LED Mini Flashlight Keychain with Battery	12800509607	12	7.04	84.48
AAA	BRSMINI-BA	3AAA LED Mini Pocket Light with Batteries	12800508129	4	7.04	28.16
AAA	BRSGEL4AAA-BA	4AAA LED Gel Grip Flashlight with Batteries	12800508105	9	9.84	59.04
AA	BRSGEL6AA-BA	6AA LED Gel Grip Flashlight with Batteries	12800508112	4	12.68	50.72
AA	BRSGELI2AA-BA	2AA LED Gelly Grip Flashlight with Batteries	12800511693	4	10.34	41.36
AA	BRSLED3PK-BTPA	2x2AA 1x2D LED Combo 3-Pack with Batteries	12800513260	4	16.92	67.68
AAA	BRS14LED-BA	3AAA 14 LED Glow in the Dark Flashlight with Batteries	12800514069	4	8.44	33.76
۵	BRS5LED-B	2D 5 LED Flashlight with Batteries	12800515240	4	98.6	39.44
AAA	BRS5LEDHLT-B	3AAA 5 LED Headlight	12800514076	4	14.10	56.40
AAA	BRS9LED-B	3AAA 9 LED Flashlight with Batteries	12800515905	9	3.86	23.16
Subber an	Rubber and Aluminum					
AA	2AA-B RBC	2AA Red & Black Flashlight with Batteries	12800501243	4	7.70	30.80
ا	2D-B RBC	2D Red & Black Flashlight with Batteries	12800501250	4	10.06	40.24
AA	4AALN RB	4AA Red & Black Lantern	12800501298	2	15.48	30.96
/alue Brig	Value Bright M Lights					
۵	E2D-BC	2D Flashlight with Batteries	12800505661	9	3.86	23.16
AA	EVB2AA-BB	2AA Flashlight with Batteries	12800507139	9	2.10	12.60
۵	EVB2D2D-BD9B	2x2D Flashlight Twin Pack with Batteries	12800509812	9	7.24	43.44
9	EFL6V-BA	Floating Lantern with 6V Battery	12800512973	9	7.62	45.72
AA/D Bulbs	GPR2AA2AA2D-BA	2x2AA 1x2D General Purpose Flashlight Combo 3-Pack with Batteries	12800501915	4	13.26	53.04
	K2-2T	Krynton Brilb for 20 Flashlights Flanged Rase 2-nach	0777700007	,	000	1
	K3-7T		12800376148	10	3.02	72.48
	K4-7T	Kniton Bulh for 2AA Elsehlinkts Elseman Base, 2-pack	12800376223	10	3.02	72.48
	K13-7T	Kniston Bulb for 4D Elseklinkts oz 6V Analications call attended Flaces and F	12800385393	10	3.02	72.48
	K13-21	N Mount Build for 4D Flashinghris of 6V Applications of Lanterns, Flanged Base, 2-pack	12800385478	10	3.02	72.48
	T-4467	9 watt Fluorescent Lube Bulb Tor 9 Watt Lanterns	12800485833	9	5.88	35.28

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with *West Virginia Code*, §5A-3-37. (Does not apply to construction contracts). *West Virginia Code*, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the *West Virginia Code*. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

1.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately
	preceding the date of this certification; or, Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or,
6.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
requir again or dec	r understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the ements for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty st such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency ducted from any unpaid balance on the contract or purchase order.
autho the re deem	bmission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and rizes the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid equired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information had by the Tax Commissioner to be confidential.
	er penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true accurate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate ges during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
Bidd	er: Applied Industria/Technologies signed: Wordell White
Date	: 9-1-2011 Title: (Servera) Marage
*Chec	k any combination of preference consideration(s) indicated above, which you are entitled to receive.

REQ NO. DCBATT/

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (*West Virginia Code* §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

Vendor's Name: Applied Today Technologies — Authorized Signature: Date: 9-/-// State of County of Korwha , to-wit: Taken, subscribed, and sworn to before me this day of your graphs of the commission expires OFFICIAL SEAL NOTARY PUBLIC NOTARY PUBLIC STATE OF WEST VIRGINIA

ROBERT A. JONES
1106 Fledderjohn Rd.
Charleston, WV 25314
Wy Commission Expires Sept. 20, 2014